
ˆÅ£þ£›þþŸþþ 
 

ˆÅ£þ£ ˆÅ²›þ ½̧µþþ£ À- åÏú /åÏúŸþ·þú.......................................................................................... 

     œÏþ.ªþþ.........................ˆÊÅ..........................·þþ.žþþ½ˆÅ£¸›þ ¹�þ.�þþ¥þ›þþ. 

ˆÅ£þ£ ˆÅ²›þ ‹þ½µþþ£ À- åÏú    œþþ£þªþ£    ¹ªþâþˆÅ   ¬þ−ˆÅþ£ú   œþ·þ   ¬þ¿¬˜þþ   Ÿþ.  žþþ½ˆÅ£¸›þ.  

 ·þþ.žþþ½ˆÅ£¸›þ ¹�þ.�þþ¥þ›þþ. 

 Ÿþú...........................................................................................‰þþ¥þú¥þ ¬þ−ú ˆÅ£µþþ£ 

 −þ ˆÅ£þ£  ›þþŸþþ  ¹¥þ−»›þ  ½̧·þþ½ ˆÅú,  Ÿþú  ¬þ¿¬˜þ½�þþ  ¬þžþþ¬þ¸  ÷þþ¥þ½¨þ£ œþþ�þ ¨þ«þÄ œþºµþÄ  

−þ½ƒÄ  œþ¡þô·þ  ¬þžþþ¬þ¸·¨þþ�þþ   £þ�þú›þþŸþþ  ½̧µþþ£ ›þþ−ú.  ˆÅþ−ú  ˆÅþ£µþþ›þ½ Ÿþ¥þþ œþþ�þ  

¨þ«þÄ œþºµþÄ  ›þ −þ½·þþ�þ £þ�þú›þþŸþþ  ¸½µþ½  ‚¬þ¥¡þþ¬þ Ÿþú  ².3000/- (·þú›þ −�þþ£ ².)  

œÏ¹ÇÅ¡þþ  ªþº¥ˆÅ  ( œÏþ½¬þ½¹¬þ¿Šþ ûÅú) žþ£ú¥þ Ÿþþ°þ ·þú›þ ¨þ«þÄ  œþºµþÄ ›þ −þ½·þþ�þ £þ�þú›þþŸþþ  

½̧µþ½  ‚¬þ¥¡þþ¬þ ².5000/- (œþþ�þ −�þþ£ ² .)  œÏ¹ÇÅ¡þþ  ªþº¥ˆÅ  žþ£ú¥þ.  

 ¬þ¸£ú¥þ œÏ¹ÇÅ¡þþ ªþº¥ˆÅ žþ£µþþ ˆÅ£½œþ¡þô·þ  ¬þ¿¬˜þ½·þ»›þ 7þ½7þþˆÅú œÏŸþþµþœþ°þ 

¬þºš¸þ ŸþþŠþµþþ£ ›þþ−ú. 

 ˆÅ£ú·þþ ˆÅ£þ£›þþŸþþ ˆÅ²›þ ¸½·þ ‚þ−½. 
 
¬˜þ§   À- žþþ½ˆÅ£¸›þ  
¹¸›þþ¿ˆÅ À-       /         / 
         
¬þþâþú¸þ£                      ˆÅ£þ£ ˆÅ²›þ ¸½µþþ£  

              ¬þ−ú ............................                                 ¬þ−ú ..................................... 

›þþ¨þ..............................                                 ›þþ¨þ...................................................  


